aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



aka,
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Front View

Warmer Front View

(Model 2262 Shown) Door on Models 2260, 2264
(Model 2264 Shown)
Item Part Description Qty. Part Number
2260 2262 2264
40 WATT FOIL HEATER 2 79122
1 | 40 WATT FOIL HEATER 4 79122
50 WATT FOIL HEATER 4 79108
2 | 8-32X3/8 PHIL PAN HEAD 8 87515 87515 87515
3 | _ELEMENT COVER 2 79313
ELEMENT COVER 4 79357 79313
4 | MALE HINGE SHORT 2 41350 41349
5 | FEMALE HINGE SHORT 2 41354 41355
6 | 8-32 X 3/8 PHIL PAN W/SEMS 8 42227 42227
7 | 8-32 ACORN NUT 4 47702 47702
8 | DOOR 1 44060 44060
9 | KNOB,LID LIFT 1 47120 47120
10 | MAGNET 1 50013 50013
11 | 8-32X1/2 FLHD PHSC 1 20066 20066

Page 8 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



ey
Backroom Warmer Model No. 2260, 2262, 2264 @

Warmer Back View

Warmer - Back View
(Model 2262 Shown) Inside Wiring Guard

Part Number

Item Part Description (01474

2260 2262 2264
1 ACORN NUT 8 47702 49068 47702
2 WIREWAY (Wiring Guard) 1 12520 79317 12714
3 SNAP BUSHING 4 75328 75328 75328
4 LEAD-IN CORD 1 22038 22038 22038
5 STRAIN RELIEF #SR-6P3-4 1 76026 76026 76026
6 SWITCH, DPST ROCKER 1 42532 42532 42532

Page 9 gmpopcorn.com



